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Cill 2021 Critical Thinking Test Results
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As a method of measuring the diploma policy "advanced thinking ability" of SILA, we utilize
the "Critical Thinking Test" originally developed by us. Here report on the 2021 test results
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[Method] CT test was Conducted at Senior Thesis-1 (classes of A Howard, M. Waterfield,
and P. Richards) for third-year students (students enrolled in 2019) on December 7th and 9th,
2021. Question sheets (26 questions. See example below) prepared in English were
distributed and collected after the exam. Students chose the correct answer from four options
and answered it in Google Forms. The number of examinees was 86.
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Example of Question
1. According to scientists, a fruit has seeds. A fruit develops from part of a plant’s flower
called an ovary. By comparison, a vegetable does not develop from a flower. A vegetable is
a plant’s root, stem, or leaf. According to scientists, is an eggplant a fruit or vegetable?

a) An eggplant is a vegetable because you must cook it before you eat it.

b) An eggplant is a fruit because it develops from a flower’s ovary.

¢) An eggplant is a vegetable because its seeds are small enough to eat.

d) An eggplant is a fruit because it grows above the ground.

[ Analysis]
1) Average number of correct answers is 12.2 (correct answer ratio was 46.9% based on 26
full marks), which is shown in Table 1 together with past results. The grade has increased
by 3.0 from the grade of the first year (9.2).
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Table 1. Average of correct answers for each year (out of 26 points)

Year 2016 2017 2018 2019 2020 2021 4% Total
1st 102 102 9.8 9.2 — — 9.9
3rd 143 124 131 131 121 12.2 12.9
4h 126 167 138 125 — — 13.9

2) The grade distribution was polarized, with peaks appearing at 11 points (correct answer
ratio 42%) and 17 points (65%).
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3) Table 2 shows the relationship between questions 1 to 26 % 2. No. of Correct Answer

and the CT element and the percentage of correct answers ~ Questions elgnTlem Czrlfseft
for each question. The percentage of correct answers was 14 Tom&Ken — © 72
high in (1) Identifying related information and low in (7) 2? (F_)Ozsﬂ fuel g 2(1)
Deduction (Table 3). s Mru:;room © 60
#® 21T M 1~26 F L CT HWE L OBEBRBLUHMOIESE 4 Newheaven @O 59
RERT, AR, (OBEIERO A Trm<, [O# 11 Europa @ 57
B TR oot (32 3), 17 Symotims @ 57
1 Eggplant @ 54
Table 3. Correct answer rate for each CT element 10 Hockey @ 4
CT Element Question Correct Ratio 13 T9m&Ken © 43
@ldentifying related information Bt o s 6 Sickschool @ 36
TS0 B o 24 Kangaroo ® 36
@Categorical Thinking sy¥a/d ey 3 142" 55 23 Kangaroo @ 35
®Perspectival thinking it L % 55 - . 7 s 9 Noedwell & 35
7= BBk 0 8 Accident ® 34
®Application & evaluation ;i fi & =¥ 4 156 46% 25 Kangaroo ® 33
@Evaluating reliability of information 4 155 45% 20  Order @ 32
15 R DAE FEE D FEAT ° 18 Symotims @ 31
@Method & strategy F-ik & Tk ik 4 149 43% 22 Order ®© 30
@Deduction #z 4 122 35% 16 Mushroom ©) 30
5 Influenza @ 29
12 Baseball @ 28
26 Kangaroo ® 26
19 Symotims @ 23
2 Driving ® 22
7 Aquarium @ 15
aEt 614




